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JEfz K % OUT I N b4 HDCP b & * ( JIg iz K £ ouT I N b4 HDCP xR b H &
1 Bl E— 41 37 78 6.48 71.52 AE 36 mEX CFEK 46 48 94 18.36  75.64
2 4H H— 41 44 85 12.96 72.04 AE 37 WEH FEx 44 36 80 4.32 75.68
3 KH O [EE 43 42 85 12.96 72.04 AE 38 A FERE 46 45 91 15.12  75.88
4 &% F— 38 42 80 7.56 72.44 AE 39 MY ZER 48 42 90 14.04  75.96
5 ZA Al 39 39 78 5.40 72.60 AE 40 H =B 49 41 90 14.04 75.96 AE
6 HEH B 42 35 77 4.32 72,68 ANE 41 /pNEF B 51 52 103 27.00  76.00
(A 0F I 43 46 89 16.20 72.80 AE 42 KHE BHE 48 41 89 12.96 76,04
8 A fEF 36 37 73 0.00 73.00 BGHE /AK 43 I 15T 47 42 89 12.96  76.04
9 EHH EZ 44 42 86 12.96 73,04 AE 44 R EIR 49 53 102 25.92  76.08
10 R 5L 44 38 82 8.64 73.36 AE 45 e BRI 47 41 88 11.88 76.12 AE
11 ) A 41 39 80 6.48  73.52 46 B BEIR 46 42 88 11.88 76.12
12 | Eh 47 46 93 19.44 73,56 47 [y 2 51 50 101 24.84 76.16
13 WA FE= 41 38 79 5.40 73.60 |UEE 48 FEE} IEfE 45 41 86 9.72 76.28
14 RHF E== 38 40 78 4.32 73.68 49 AR B 42 44 8 9.72 76,28
15 i T B 45 46 91 17.28 73.72 ANE 50 /AR s 45 41 8 9.72 76.28 AE
16 A — 41 36 77 3.24  73.76 51 W ## 43 43 86 9.72 76.28
17 T8 S 48 41 89 15.12  73.88 52 MA EHE 44 39 83 6.48  76.52
18 FnE ¥EEA 44 44 88 14.04  73.96 FELAE 53 KiE —4& 49 47 96 19.44  76.56
19 5578 Eih 46 42 88 14.04 73,96 b4 FIL M 47 49 96 19.44 76.56
20 R ffz 48 39 87 12.96 74.04 AE 55 PaAT B 42 40 82 5.40 76.60 AE
21 BER EF 43 43 86 11.88 74,12 56 HH EH 48 47 95 18.36 76,64
22 g =HE 43 43 86 11.88  74.12 57 TR 52 43 95 18.36  76.64
23 ki BZ 50 49 99 24.84 74.16 58 FI ME 46 48 94 17.28  76.72
24 BRI BK 50 49 99 24.84 74.16 59 B BAR 42 50 92 15.12  76.88
26 MR WRHL 42 40 82 7.56 74.44 ANE 60 LA FEER 47 44 91 14.04 76.96 ANK
26 kI B 46 48 94 19.44  74.56 61 VEIE FER 42 48 90 12.96  77.04
27 KH ¥EH 47 43 90 15.12  74.88 62 ik R 53 50 103 25.92  77.08
28 tm Mz 45 43 88 12.96 75,04 63 HF B 41 48 89 11.88 77.12
29 WA FEEZ 42 45 87 11.88 75.12 64 EEF R 43 46 89 11.88  77.12
30 M 39 48 87 11.88 75.12 AE 65 FiE 43 45 88 10.80 77.20 ANE
31 &) H2 51 49 100 24.84  75.16 66 ¥EH [FEfE 45 43 88 10.80  77.20
32 KHE #Z 42 44 86 10.80  75.20 67 fRHE fz 44 44 88 10.80 77.20
33 B E—B 41 45 86 10.80  75.20 68 LA KHin 43 45 88 10.80  77.20
34 BEAR KK 43 43 86 10.80  75.20 69 EiE EFE—HF 44 42 86 8.64 77.36
3B HE EZ 40 44 84 8.64 75.36 AE 70 B = 46 40 86 8.64 77.36 AE
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JE AL K £ ouT I N b4 HDCP v b & *= JEfL K % ouT I N b4 HDCP v k H &
1 )RR 50 45 95 17.28  77.72 106 fZA SR 46 49 95 15.12  79.88
2 BE 44 51 95 17.28  77.72 107 ¥k FEK 51 44 95 15.12 79.88
73 HF IEA 45 50 95 17.28 77.72 108 Uik & 59 49 108 28.08 79,92
T4 MK RO 48 47 95 17.28 77.72 109 ¥ E  HEE 55 52 107 27.00  80.00
75 WHE E 49 45 94 16.20 77.80 AE 110 FX =ET 52 54 106 25.92  80.08 AE
76 WR fH— 47 47 94 16.20  77.80 111 KH #H 53 53 106 25.92  80.08
77 BRI H 42 38 80 2.16 77.84 112 /&2 & 50 41 91 10.80  80.20
78 TEH IRER 49 44 93 15.12  77.88 113 & &6 52 52 104 23.76 80,24
79 B KRR 46 47 93 15.12  77.88 114 4b#E fH— 47 41 88 7.56 80.44
80 JbE % 55 51 106 28.08 77.92 AHE 115 |Hf —ik 58 57 115 34.56 80.44 AE
81 WA {HEk 56 49 105 27.00 78,00 116 FHE EHE 47 52 99 18.36  80.64
82 Mk =] 44 46 90 11.88 78.12 117 WH T 45 54 99 18.36  80.64
83 /MK FnE 53 50 103 24.84 78.16 118 &JII #A 50 49 99 18.36 80.64
84 WH BT 43 45 88 9.72 178.28 119 B2 BHE 44 41 85 4.32  80.68
85 HPR HET 48 51 99 20.52 78.48 AE 120 E B 55 43 98 17.28 80.72 AE
86 AR Fnik 48 51 99 20.52  78.48 121 jEH  4FRE 55 56 111 30.24  80.76
87 RER (E= 49 49 98 19.44 78,56 122 I &— 50 47 97 16.20  80.80
88 XHIE {E 49 49 98 19.44 78.56 123 EH E& 58 50 108 27.00  81.00
89 KM [ 46 51 97 18.36  78.64 124 i & 50 57 107 25.92  81.08
90 LA #Bx 43 39 82 3.24 718.76 mMEBGHE, NE 125 JEM B2 48 42 90 8.64 81.36 ANE
91 FEE BB 53 55 108 29.16  78.84 126 £MH #* 50 53 103 21.60  81.40
92 Hig LT 47 47 94 15.12 78.88 127 HiE  JeE 62 51 113 31.32  81.68
93 HEEK KXo 47 46 93 14.04 78,96 128 AH #E 47 52 99 17.28 81.72
94 FH BE 53 39 92 12.96 79,04 129 %— K& 51 47 98 16.20 81.80
95 FER FHR 47 44 91 11.88 79.12 AE 130 5H 7 56 54 110 28.08 81.92 AE
96 =k I 48 43 91 11.88 79.12 131 H| 2 55 54 109 27.00  82.00
97 RAA  TEH 51 52 103 23.76  79.24 132 Y3 B 51 57 108 25.92 82.08
98 EAH  FEEK 47 54 101 21.60  79.40 133 R H— 51 56 107 24.84 82,16
99 WEH A 51 50 101 21.60  79.40 134 HFn JEZI 50 55 105 22.68  82.32
100 BH XH 54 47 101 21.60 79.40 AE 135 Al HA 53 51 104 21.60 82.40 AE
101 EH %HE 53 46 99 19.44 79.56 136 Bt 17% 57 55 112 29.16 82.84
102 =4 &Z 48 51 99 19.44  79.56 137 HEA IERE 52 58 110 27.00 83.00
103 EH oFte 60 52 112 32.40  79.60 138 =4¢ = 56 b4 110 27.00 83,00
104 K& LA 49 47 96 16.20 79.80 139 &Ft #7) 53 56 109 25.92 83.08
105 #&JI| AR 57 52 109 29.16  79.84 AE 140 AL Al 53 54 107 23.76 83.24 AE
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141 #RHE 8 63 55 118 34.56  83.44
142 kA A 61 42 103 19.44 83,56
143 fEAS Bk 52 61 113 29.16  83.84
144 HEAT  Foisk 58 53 111 27.00  84.00
145 HE  FEA 50 59 109 24.84 84.16 AHE
146 i FE 58 51 109 24.84 84,16
147 BH [l 48 47 95 10.80 84.20
148 BB RXE 46 A7 93 8.64 84.36
149 A KR 50 54 104 19.44 84.56
160 A fhh 54 49 103 18.36 84.64 AHE
151 M b 57 58 115 30.24 84.76
152 #kE T 52 57 109 23.76 85,24
153 HE BE 52 43 95 9.72 85,28
154 & & 56 43 99 12.96  86.04
155 Ky (&F 56 55 111 24.84 86.16 AE
156 /NPE Rk 52 53 105 18.36  86.64
1657 R R 57 58 115 28.08  86.92
158 [iH B& 60 48 108 20.52  87.48
159 HA  RHgE 64 60 124 35.64 88,36
160 A BEIE 58 52 110 21.60 88.40 AH
161 HE JE= 60 58 118 29.16  88.84
162 HEE {4 61 53 114 24.84  89.16
163 /R HHE 66 64 130 39.96  90.04
164 HE B 52 58 110 17.28 92.72
165 #Er & 70 63 133 39.96 93.04 AH
166 FR 4 65 69 134 40.00 94,00
167 BTH TEX 61 54 115 18.36  96.64
168 =% 1# 73 70 143 40.00 103.00
169 BEH HEA 81 77 158 40.00 118.00 BBE
170 HE Tk 87 87 174 40.00 134.00 BME




